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QUESTION 1

What are the correct steps for doing a V2V conversion? 

A. 1. Copy the entire virtual machine directory for the guest to be converted to the seed_pool directory. 

2.

 Open Oracle VM Manager to the Import Virtual Machines page. 

3.

 Click the Import button and choose Select from Server Pool. 

4.

 Select the server pool and virtual machine image name. 

B. 1. Copy the entire virtual machine directory for the guest to be converted to the running_pool directory. 2.Open
Oracle VM Manager to the Import Virtual Machines page. 

3.

 Click the Import button and choose Select from Server Pool. 

4.

 Select the server pool and virtual machine image name. 

C. 1. Copy the entire virtual machine directory for the guest to be converted to the running_pool directory. 

2.

 Open Oracle VM Manager to the Import Virtual Machines page. 

3.

 Click the Import button and choose Linux/Windows V2V Import. 

4.

 Select the server pool and virtual machine image name. 

D. 1. Copy the entire virtual machine directory for the guest to be converted to the seed_pool directory. 

2.

 Open Oracle VM Manager to the Import Virtual Machines page. 

3.

 Click the Import button and choose Linux/Windows V2V import. 

4.
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 Select the server pool and virtual machine image name 

Correct Answer: B 

 

 

QUESTION 2

A customer has installed Oracle VM Manager from the Oracle-provided template onto a server pool of ten servers. As
additional VMs are being added, the user interface for the Oracle VM Manager application is becoming slow. 

What is the problem? 

A. The Oracle VM Manager guest does not have the HA flag set, and is therefore not being moved to a server with
sufficient capacity. 

B. The Oracle VM Manager guest is on a server that has insufficient memory. 

C. The Oracle VM Manager guest is on a server that has insufficient CPU capability. 

D. The Oracle VM Manager guest has been put in maintenance mode by the Administrator. 

E. The Oracle VM Manager guest is located on a master pool server, which is consuming a large portion of the I/O and
processing of the server. 

Correct Answer: A 

 

 

QUESTION 3

What two steps are required to create a root repository in an Oracle VM server pool? 

A. Use the repos.py command with the --new option, along with either a device path or an nfs path. 

B. Use the repos.py command with the --new option, along with the UUID assigned to the repository. 

C. Use the repos.py command with the--new option, along with the UUID assigned to the repository and a device path. 

D. Use the repos.py command with the path. --root option, along with either a device path or an nfs path. 

E. Use the repos.py command with the--root option, along with the UUID assigned to the repository. 

Correct Answer: AE 

 

 

QUESTION 4

What three artifacts are created as a result of running the JeOS tool? 
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A. a System.img file representing the operating system 

B. optional image files as specified in the command 

C. a README file with product name, version number and build timestamp 

D. a vm.cfg file pointing to the created images, along with specified memory and CPU information 

E. a tar.gz file with all of the images, README and vm.cfg files compressed 

Correct Answer: ADE 

 

 

QUESTION 5

Oracle VM Server 2.2 consists of which two software components? 

A. Oracle Database XE 

B. Oracle Enterprise Linux 5.3 

C. Xen Hypervisor 

D. Oracle Containers for Java (OC4J) 

E. Oracle WebLogic Server (WLS) 

Correct Answer: BC 
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